
YH05-1A YH05-4A

YH05-2A YH05-5A

YH05-3A YH05-6A

根號 a 正平方根

負根號 a 負平方根

38 =   (2)  = 23 3

3
(-4)  = -433

64  =   4  = 43 3

125 = 53(-125)  =  -53
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-0.50.3

-0.2

5

3 3
3375 = 5  × 3

3375  = 153

3 6
5832 = 2  × 3

25832  = 2 × 3  = 183

(1)  X > 0     3X

(2)  X < 0     3X

(3)  X = 0     0

3
8(XY)   = 2XY3

(3X－4)－(2X－1) = X－3

3X－(X+Y) + (-2)(-Y) = 2X+Y

=     －    －0.2 + 0.33
5

1
5

= 0.5

3 2600 = 2  × 3 × 5

a = 3 × 3 × 5 = 45      b = 30
a = 45

b = 30

9 × 9 × 9 = 729

a = 129

b = 9

<1>  3X－Y = 4      X = 1

  X + 9Y = -8    Y = -1
X－Y = 2

<2>  0  +    8  = 23 3

a = 4 b = -5

4 + (-5)  = -13

ab－ab = 0

64 = 43 64的平方根 ± 8

4 + 8 = 12  ，  4－8 = -4                  12或－4

2-(b－a) × (b－a) = -(b－a)

 X = 0.05292 =           = 
5.292
100

28
100

 X =            = 0.002828
10000

 X = 266.8 = 2.668 × 100 =    19 × 1003 3

 X = 19 × 1000000 = 19000000

5 <   27 < 6
5

592 =   16 × 37 = 4   37 = 4 × 6.08 = 24.32

答：24

999 =   27 × 37 = 3   37 = 9.993 3 3

答：9
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YH05-4B

YH05-2B YH05-5B

YH05-3B YH05-6B
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YH05-1B

3 39261 = 3  × 7 9261  = 213

3 342875 = 5  × 7 42875  = 353

327(-X)   = -3X3

3 3
-64(-X Y )  = 4XY3

3 3125(-X )(-Y )  = 5XY3

2X + 5－(3X－4) = -X + 9

-2X + 2X－Y + 4Y = 3Y

4
3

－ 1
3

+ 0.4－0.5 = 0.9

a = 75         b = 2

a = 88         b = 8

<1>  3

<2>  11－22

a = 3 b = 5

9－5  = 2

ab + ab = 2ab

2
(b－a) × (b－a) = (b－a)

 X =            =               x=              = 0.0035
5.916
100

35
100

 X = 327.1 = 3.271 × 100 =    35 × 1003 3

   x = 35 × 1000000 = 35000000

51 = 7.1414 … ≒  7

53 × 4 =  7.28 × 2  = 14.56

答：14

424 =   53 × 8 = 2 ×    533 3 3

35
10000

= 2 × 3.756 = 7.512
答：7
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